James Elliman Academy

Answer for Weekly Activities
Year 3

Week beginning: 23.03.2020

Learning Time

Comprehension
Building Stonehenge — Answers
1. Because the stone structures are still standing today.

To celebrate the changing seasons or to worship the sun.
R e a d | n g a)They weighed up to 4 tonnes and d)They formed another two circles.

A ring of stones that were laid on top.
It makes it easier to read because it is like a timeline, starting with the oldest

A

first to the newest Stonehenge.
6. Yes or No and explanation why.

Grammar p4 Questionl, Brazil monkey girl, pencil April, Emma.
Question 2 Common nouns: game tree dog money house book.
Punctuation p36-37 guestion 1 you should have circled: geoffrey italy buckingham
palace, april thursday mr. smith
question2, you should have written out: 25 Church Street, the book by Roald Dahl, the
beach in August,Miss Hamilton’s class
question 3 should look like this: Last weekend, my brother Oliver went hiking with his
friends, Lydia and Marc. On Saturday, they climbed up Snowdon, the tallest mountain
in Wales. Although it rained all day, they said that they had a great time. They want to
go again in September, but | won’t go with them because | don’t enjoy hiking.
question 4
Luckily I asked Frieda to help me.
G ra m m a r Miss Jones said | could be King John in the play.
On Saturday, | watched England play football.
Every June, | go camping in Ireland.
Spelling p68 question 1
Un +known Mis+print Dis+approve Un+even
Question2
Unaware, unequal, disregard, unpaid, misbehave
Question 3
You should have underlined: diskind, discalculate, unspell, misappoint
Correct are: unkind miscalculate misspell disappoint
Question 4
Disown mistreat mismatch dismiss displease disagree
Question 5 Unwell, unlocked, disappeared, misunderstood, unpacked.
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Ql.12

Q2.4 tensor 40
Q3. Eighty nine
Q4.

Q5. 15,18, 21
Q6. 3+7=10
20+60 is ten times bigger than 246
2+6=8, so
20+60=80
Q7.5 faces
5 vertices
Q8. 2+2+2+1=7
Q9. cm should be circled
Q10. second one should be circled
Q11. Clock showing 6:15
Q12. You can check an addition by doing the opposite — a subtraction.
79-560r79-23
Q13.4x2=8
8+5=13
Q14. 15+ 3 =5roses
Q15.41>36
Q16. 6 should be circled
1/30f24=24+3
= 8 sweets
Ql17.54-20=34
34-3=31




